4 Trapsform 25x? =932 —200x — 54y + 544 = 0 to standard form and graph. (Hint: Complete

thef‘ etwifce).
\ L?”;\ * 2 e (LS A ~1_DD)¢') — 4 (\/l.} iy e _s\ey
Wi T fT?VX
SRR ASWEE
HDE DL 250 — e ) — gyt by )= sy
TR
SR gEE L8 gl i sy
H =% L iesie )yl S

— %2

o -

v
— Q?i:j> & \1 +5)2
i B=5y

Cystnln i
b e ki

5. Eliminate the parameter and graph x = -2+ 7cosé, y =3-5sinf. (Hint: To eliminate the

parameter means to “get rid of theta. To do this, first graph the function parametrically, then
pick the approprlate 1dpnt1ty, and last eliminate the parameter).
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